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1. &dl A&

OP R

EA JA250C HE2AL Daimler AG
A BENZ 6x6, With Tagaxle e OMS01LA
g NETPIEE T Bl 7| 2 | (o 11,946
AHAE A e B A2 K] Hote
AN e (k) 30525 z5 TR LA
orut A S5 (kg 30655 (SAHelE 2?_%3 24l *‘E%Jif “ 6718
1= 385/65R22.5-20PR {S) SESIT N AEBEARY
(4,500kg , 120psi) s {ps/rpm) 456 / 1800
£10]01 23m 315/80R22.5 {D}. #| gﬂgga {kg.m/rprm) 224 / 1080
(3,350kg . 120psi) ZEim=L {rprm) 800
c .| 385/65R22.5-20PR (%) HEER z2e
filds
{4,500kg , 120psi)
FMELME D] (mm) | 11,400 x 2,495 x 3,800 X Zhg|Ab BENZ
=7t A2 (mm) | 4500 + 1350 « 1250 || ..., [EH k=)
X XD {mm} 280 R TV = T16 /=2
e leHd a4 {rmm) 2,100 P ghad Off O
oA 23 {mm) 1,805 Sitsd {°) 15
821 (Tagaxie) | (mm) 2,000 Me  |FasD {km/hir) a0
FAS| M {rm) 10,150

S e S




atH| HMI&
O —
S <
A A X AR
oigk s 2 =|0Y 23 ton x 2.5m (6 Hins) R MRz T]
=== ESpul 0.9 ton x 22m {1 lins} #Rglgtss 3.84ton x 6=23ton
E| = = 0] 25m HAEA |OIGEE @15 x 90m
Z|C = 223 m = Sdm/raim (1line)
0] a.0m~23.3m EEE == 4ton
EC Gl 4EF LOMEHE Tandum piston
- & Atazie -5° ~ 80° e 250 bar
Moz 40 sec. SeNL AesRlHIEd 350 iitter
cleste 60 sec. cuss ENE= =y 60°C~
4 e atd - ghad Fy
e o2 360° H= HIEFAL DIGGA (0|2, 55
ki 1.3rpm {(&[2) LHEEY 450 mm
Bk HEY oy |[EHEHOUKEE 21 m
ot —— B 7,000 o |[2AHYEY ~17m
=S :
=2 = 5315 R2AERZ 3,185 kgfm
el ’ 7 HEIE
A Cpes = 2EH{BAIEE)
T = =
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